




Histogram (sample100.sta 11v*101c)

 y = 100 * 5 * normal (x, 34.015, 7.18828)
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Histogram (sample100.sta 11v*101c)

 y = 100 * 5 * normal (x, 33.475, 7.280364)
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Histogram (sample100.sta 11v*101c)

 y = 100 * 0.0005 * lognorm (x, -10.37177, 1.86192)
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Histogram (sample100.sta 11v*101c)

 y = 100 * 0.1 * lognorm (x, -1.922155, 0.779757)
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Histogram (sample100.sta 11v*101c)
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Histogram (sample100.sta 11v*101c)
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Histogram (sample100.sta 11v*101c)
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Histogram (sample100.sta 11v*101c)
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Histogram (sample50.sta 12v*50c)

 y = 50 * 5 * normal (x, 33.376, 6.758835)
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Histogram (sample50.sta 12v*50c)

 y = 50 * 5 * normal (x, 33.988, 7.132324)
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Histogram (sample50.sta 12v*50c)

 y = 50 * 0.2 * lognorm (x, -1.92964, 0.910555)
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Histogram (sample50.sta 12v*50c)

 y = 50 * 0.1 * lognorm (x, -1.97627, 0.954654)
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Histogram (sample50.sta 12v*50c)
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Histogram (sample50.sta 12v*50c)
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Histogram (sample50.sta 12v*50c)
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Histogram (sample10.sta 11v*10c)

 y = 10 * 2 * normal (x, 33.61, 6.698664)
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Histogram (sample10.sta 11v*10c)

 y = 10 * 1 * normal (x, 30.76, 3.967983)
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Histogram (sample10.sta 11v*10c)

 y = 10 * 0.1 * lognorm (x, -1.91473, 0.858181)
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 y = 10 * 0.1 * lognorm (x, -2.13359, 1.04752)
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Histogram (sample10.sta 11v*10c)
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